Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

	Engineer's Estimate \$1,500,000			Decker Construction		Columbus Asphalt Paving, Inc.		c. Elite Excavating Co. of Ohio		Strawser Paving Co., Inc.		Conie Construction		Shelly and Sands Inc.	
	Engineer's Estimate Alt. 01 \$270,000			3040 McKinle	ey Avenue	1196 Technol	logy Drive	4500 Snodg	rass Road	1595 Fra	nk Road	1340 Windsor Avenue		1515 Harmon Avenue	
				Columbus, 0	OH 43204	Gahanna, O	H 43230	Mansfield, 0	OH 44903	Columbus,	OH 43223	Columbus, C	OH 43211	Columbus,	Ohio 43223
				614-488 Unit Price		614-759- Jnit Price Labor	9800	419-683 Unit Price	-4200	614-27 Unit Price		614-291 Unit Price Labor	-5931	614-44 Unit Price	14-5100
ITEM SPEC CMS	DESCRIPTION	QUANTITY	<u>UNIT</u>	Labor &	<u>Total</u>	& Material	<u>Total</u>	Labor &	<u>Total</u>	Labor &	<u>Total</u>	& Material	<u>Total</u>	Labor &	<u>Total</u>
1 201 COLS	CLEARING AND GRUBBING	1	LS	\$1,320.00	\$1,320.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00	\$5,200.00	\$5,200.00
2 201 COLS	STUMP REMOVED, 18"	4	EA	\$220.00	\$880.00	\$105.00	\$420.00	\$300.00	\$1,200.00	\$210.00	\$840.00	\$210.00	\$840.00	\$200.00	\$800.00
3 201 COLS	STUMP REMOVED, 30"	2	EA	\$440.00	\$880.00	\$180.00	\$360.00	\$500.00	\$1,000.00	\$425.00	\$850.00	\$420.00	\$840.00	\$400.00	\$800.00
4 201 COLS	TREE REMOVED, 18"	4	EA	\$385.00	\$1,540.00	\$525.00	\$2,100.00	\$500.00	\$2,000.00	\$360.00	\$1,440.00	\$360.00	\$1,440.00	\$350.00	\$1,400.00
_ 5 201 COLS	TREE REMOVED, 30"	2	EA	\$1,320.00	\$2,640.00	\$1,250.00	\$2,500.00	\$1,500.00	\$3,000.00	\$1,250.00	\$2,500.00	\$1,200.00	\$2,400.00	\$1,200.00	\$2,400.00
6 202 COLS	BOULDER REMOVED	1	EA	\$73.60	\$73.60	\$160.00	\$160.00	\$100.00	\$100.00	\$250.00	\$250.00	\$28.00	\$28.00	\$700.00	\$700.00
7 202 COLS	CATCH BASIN OR INLET REMOVED	7	EA	\$177.88	\$1,245.16	\$685.00	\$4,795.00	\$200.00	\$1,400.00	\$1,185.00	\$8,295.00	\$220.00	\$1,540.00	\$380.00	\$2,660.00
8 202 COLS	CURB AND GUTTER REMOVED	3,761	LF	\$4.49	\$16,886.89	\$5.75	\$21,625.75	\$7.00	\$26,327.00	\$8.50	\$31,968.50	\$7.90	\$29,711.90	\$7.00	\$26,327.00
9 202 COLS	CURB REMOVED	127	LF	\$4.92	\$624.84	\$5.75	\$730.25	\$7.00	\$889.00	\$12.00	\$1,524.00	\$8.70	\$1,104.90	\$4.00	\$508.00
10202COLS	HAND RAIL REMOVED	6	FT	\$33.79	\$202.74	\$12.75	\$76.50	\$20.00	\$120.00	\$25.00	\$150.00	\$6.90	\$41.40	\$80.00	\$480.00
11202COLS	MANHOLE REMOVED	7	EA	\$3,580.77	\$25,065.39	\$685.00	\$4,795.00	\$500.00	\$3,500.00	\$620.00	\$4,340.00	\$530.00	\$3,710.00	\$377.50	\$2,642.50
12	PAVEMENT REMOVED	8,455	SY	\$8.46	\$71,529.30	\$7.35	\$62,144.25	\$7.00	\$59,185.00	\$8.75	\$73,981.25	\$9.00	\$76,095.00	\$5.50	\$46,502.50
13	PIPE REMOVED	547	LF	\$26.01	\$14,227.47	\$17.75	\$9,709.25	\$20.00	\$10,940.00	\$75.00	\$41,025.00	\$7.30	\$3,993.10	\$16.00	\$8,752.00
14 202 COLS	WALK REMOVED	5,665	SF	\$2.43	\$13,765.95	\$2.10	\$11,896.50	\$1.00	\$5,665.00	\$2.00	\$11,330.00	\$0.90	\$5,098.50	\$2.00	\$11,330.00
15	EMBANKMENT	28	CY	\$22.46	\$628.88	\$14.00	\$392.00	\$18.00	\$504.00	\$40.00	\$1,120.00	\$31.00	\$868.00	\$125.00	\$3,500.00
16	EXCAVATION	2,086	CY	\$28.11	\$58,637.46	\$23.00	\$47,978.00	\$18.00	\$37,548.00	\$34.00	\$70,924.00	\$23.00	\$47,978.00	\$29.00	\$60,494.00
17	EXCAVATION OF SUBGRADE, AS DIRECTED	50	CY	\$19.87	\$993.50	\$30.00	\$1,500.00	\$20.00	\$1,000.00	\$60.00	\$3,000.00	\$35.00	\$1,750.00	\$35.00	\$1,750.00
18 204 ODOT	GRANULAR MATERIAL, TYPE E, NO 2 STONE, 703.01, AS DIRECTED	50	CY	\$35.50	\$1,775.00	\$40.00	\$2,000.00	\$30.00	\$1,500.00	\$70.00	\$3,500.00	\$38.00	\$1,900.00	\$48.00	\$2,400.00
19 204 COLS	PROOF ROLLING	8	HR	\$151.39	\$1,211.12	\$80.00	\$640.00	\$100.00	\$800.00	\$84.00	\$672.00	\$170.00	\$1,360.00	\$190.00	\$1,520.00
20 204 COLS	SUBGRADE COMPACTION	9,166	SY	\$0.38	\$3,483.08	\$2.30	\$21,081.80	\$2.00	\$18,332.00	\$1.00	\$9,166.00	\$3.00	\$27,498.00	\$2.00	\$18,332.00
21 206 ODOT	CHEMICALLY STABILIZED SUBGRADE, AS DIRECTED (ALLOWANCE)	1	LS	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
22 252 ODOT	FULL DEPTH PAVEMENT SAWING	260	FT	\$1.44	\$374.40	\$2.25	\$585.00	\$2.00	\$520.00	\$1.00	\$260.00	\$1.70	\$442.00	\$9.00	\$2,340.00
23 254 ODOT	PAVEMENT PLANING, ASPHALT CONCRETE	204	SY	\$4.47	\$911.88	\$5.25	\$1,071.00	\$10.00	\$2,040.00	\$10.00	\$2,040.00	\$4.70	\$958.80	\$30.00	\$6,120.00
24	DRIVEWAY PAVEMENT REPLACEMENT, TYPE III, AS PER PLAN	8	CY	\$400.00	\$3,200.00	\$300.00	\$2,400.00	\$500.00	\$4,000.00	\$475.00	\$3,800.00	\$290.00	\$2,320.00	\$120.00	\$960.00
	DRIVEWAY PAVEMENT REPLACEMENT, TYPE IIIA	12	CY	\$367.62	\$4,411.44	\$335.00	\$4,020.00	\$300.00	\$3,600.00	\$265.00	\$3,180.00	\$710.00	\$8,520.00	\$625.00	\$7,500.00
	PERMANENT PAVEMENT REPLACEMENT, TYPE 1	6	CY	\$500.00	\$3,000.00	\$470.00	\$2,820.00	\$1,200.00	\$7,200.00	\$950.00	\$5,700.00	\$720.00	\$4,320.00	\$600.00	\$3,600.00
	ASPHALT CONCRETE BASE, PG64-22	1,141	CY	\$172.12	\$196,388.92	\$140.00	\$159,740.00	\$145.00	\$165,445.00	\$142.00	\$162,022.00	\$180.00	\$205,380.00	\$140.00	\$159,740.00
	AGGREGATE BASE	1,555	CY	\$36.26	\$56,384.30	\$38.00	\$59,090.00	\$38.00	\$59,090.00	\$35.00	\$54,425.00	\$42.00	\$65,310.00	\$42.00	\$65,310.00

Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

Engineer's Estimate \$1,500,000					Decker Con	struction	Columbus Aspha	It Paving, Inc.	Elite Excavating	g Co. of Ohio	Strawser Pav	ring Co., Inc.	Conie Cons	truction	Shelly and Sands Inc.		
	Engineer's Estimate Alt. 01 \$270,000				3040 McKinle	ey Avenue	1196 Technol	ogy Drive	4500 Snodgı	ass Road	1595 Fra	nk Road	1340 Windso	r Avenue	1515 Harm	non Avenue	
					Columbus, C	OH 43204	Gahanna, O	H 43230	Mansfield, C	OH 44903	Columbus,	OH 43223	Columbus, C	OH 43211	Columbus,	Ohio 43223	
					614-488- Unit Price		614-759- Unit Price Labor	9800	419-683 Unit Price	-4200	614-27 Unit Price		614-291- Unit Price Labor	-5931	614-44 Unit Price	14-5100	
ITEM	SPEC	CMS DESCRIPTION	QUANTITY	<u>UNIT</u>	Labor &	<u>Total</u>	& Material	<u>Total</u>	Labor &	<u>Total</u>	Labor &	<u>Total</u>	& Material	<u>Total</u>	Labor &	<u>Total</u>	
29	407	ODOT TACK COAT, TRACKLESS TACK, AS PER PLAN (0.07 GAL/SY)	564	GAL	\$4.70	\$2,650.80	\$4.90	\$2,763.60	\$5.00	\$2,820.00	\$4.40	\$2,481.60	\$4.90	\$2,763.60	\$4.00	\$2,256.00	
30	410	COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED	115	TON	\$16.65	\$1,914.75	\$19.00	\$2,185.00	\$20.00	\$2,300.00	\$110.00	\$12,650.00	\$41.00	\$4,715.00	\$75.00	\$8,625.00	
31	441	ODOT ASPHALT CONCRETE, INT. COURSE, TYPE 2, (448)	311	CY	\$184.12	\$57,261.32	\$157.00	\$48,827.00	\$165.00	\$51,315.00	\$164.00	\$51,004.00	\$190.00	\$59,090.00	\$165.00	\$51,315.00	
32	441	ODOT ASPHALT CONCRETE, SUR. COURSE, TYPE 1 (448) PG64-22	275	CY	\$198.12	\$54,483.00	\$180.00	\$49,500.00	\$215.00	\$59,125.00	\$210.00	\$57,750.00	\$210.00	\$57,750.00	\$215.00	\$59,125.00	
33	452	COLS 6" NON-REINFORCED CONCRETE PAVEMENT	528	SY	\$42.53	\$22,455.84	\$60.00	\$31,680.00	\$60.00	\$31,680.00	\$80.00	\$42,240.00	\$71.00	\$37,488.00	\$64.00	\$33,792.00	
34	452	COLS 7" NON-REINFORCED CONCRETE PAVEMENT	868	SY	\$49.03	\$42,558.04	\$42.00	\$36,456.00	\$65.00	\$56,420.00	\$50.00	\$43,400.00	\$76.00	\$65,968.00	\$50.00	\$43,400.00	
35	604	COLS CURB AND GUTTER INLET (AA-S125A)	12	EA	\$1,404.16	\$16,849.92	\$2,200.00	\$26,400.00	\$2,800.00	\$33,600.00	\$2,800.00	\$33,600.00	\$2,100.00	\$25,200.00	\$2,600.00	\$31,200.00	
36	604	COLS CURB INLET MANHOLE (AA-S121)	7	EA	\$2,090.52	\$14,633.64	\$2,475.00	\$17,325.00	\$3,000.00	\$21,000.00	\$3,100.00	\$21,700.00	\$1,800.00	\$12,600.00	\$3,100.00	\$21,700.00	
37	604	COLS DOUBLE CURB AND GUTTER INLET (AA-S125B)	1	EA	\$1,860.52	\$1,860.52	\$4,100.00	\$4,100.00	\$4,500.00	\$4,500.00	\$3,250.00	\$3,250.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	
38	604	COLS MANHOLE ADJUSTED TO GRADE	1	EA	\$375.22	\$375.22	\$800.00	\$800.00	\$800.00	\$800.00	\$500.00	\$500.00	\$300.00	\$300.00	\$1,400.00	\$1,400.00	
39	604	COLS MANHOLE, TYPE C	10	EA	\$1,975.52	\$19,755.20	\$2,350.00	\$23,500.00	\$2,500.00	\$25,000.00	\$4,000.00	\$40,000.00	\$2,800.00	\$28,000.00	\$4,800.00	\$48,000.00	
40	604	COLS STANDARD CATCH BASIN, AA-S133A	2	EA	\$1,102.76	\$2,205.52	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00	\$1,800.00	\$3,600.00	\$1,300.00	\$2,600.00	\$2,500.00	\$5,000.00	
41	605	COLS 4" PIPE UNDERDRAIN, 720.12	4,713	LF	\$5.47	\$25,780.11	\$7.20	\$33,933.60	\$9.00	\$42,417.00	\$10.50	\$49,486.50	\$8.40	\$39,589.20	\$11.00	\$51,843.00	
42	608	COLS 4" CONCRETE WALK	10,970	SF	\$4.04	\$44,318.80	\$5.40	\$59,238.00	\$6.00	\$65,820.00	\$4.35	\$47,719.50	\$6.70	\$73,499.00	\$5.00	\$54,850.00	
43	608	COLS 6" CONCRETE WALK	908	SF	\$5.90	\$5,357.20	\$7.30	\$6,628.40	\$8.00	\$7,264.00	\$6.50	\$5,902.00	\$7.80	\$7,082.40	\$7.00	\$6,356.00	
44	608	COLS 8" CONCRETE WALK	331	SF	\$9.35	\$3,094.85	\$9.25	\$3,061.75	\$10.00	\$3,310.00	\$10.50	\$3,475.50	\$10.00	\$3,310.00	\$10.00	\$3,310.00	
45	608	COLS CONCRETE STEPS	15	FT	\$83.72	\$1,255.80	\$100.00	\$1,500.00	\$200.00	\$3,000.00	\$125.00	\$1,875.00	\$160.00	\$2,400.00	\$80.00	\$1,200.00	
46	608	COLS CURB RAMP	30	EA	\$150.00	\$4,500.00	\$110.00	\$3,300.00	\$500.00	\$15,000.00	\$300.00	\$9,000.00	\$210.00	\$6,300.00	\$175.00	\$5,250.00	
47	608	COLS DETECTABLE WARNING, TYPE "E"	30	EA	\$150.00	\$4,500.00	\$180.00	\$5,400.00	\$300.00	\$9,000.00	\$190.00	\$5,700.00	\$260.00	\$7,800.00	\$125.00	\$3,750.00	
48	609	COLS 3.5" DIAMETER CORED CURB	82	EA	\$38.00	\$3,116.00	\$48.00	\$3,936.00	\$40.00	\$3,280.00	\$20.00	\$1,640.00	\$21.00	\$1,722.00	\$35.00	\$2,870.00	
49	609	COLS COMBINATION CURB AND GUTTER, TYPE STANDARD	4,251	LF	\$10.96	\$46,590.96	\$17.00	\$72,267.00	\$18.00	\$76,518.00	\$14.25	\$60,576.75	\$13.00	\$55,263.00	\$24.00	\$102,024.00	
50	609	COLS CURB, STRAIGHT 18"	60	FT	\$23.88	\$1,432.80	\$25.00	\$1,500.00	\$40.00	\$2,400.00	\$25.00	\$1,500.00	\$26.00	\$1,560.00	\$28.00	\$1,680.00	
51	609	ODOT CURB, TYPE 7 QC2	47	FT	\$45.79	\$2,152.13	\$26.00	\$1,222.00	\$50.00	\$2,350.00	\$17.00	\$799.00	\$42.00	\$1,974.00	\$35.00	\$1,645.00	
52	611	ODOT 12" CONDUIT, TYPE B, 706.02	361	LF	\$86.44	\$31,204.84	\$85.00	\$30,685.00	\$90.00	\$32,490.00	\$70.00	\$25,270.00	\$110.00	\$39,710.00	\$85.00	\$30,685.00	
53	611	ODOT 12" CONDUIT, TYPE B, 706.02 WITH CONCRETE ENCASEMENT	82	LF	\$168.77	\$13,839.14	\$92.00	\$7,544.00	\$150.00	\$12,300.00	\$90.00	\$7,380.00	\$170.00	\$13,940.00	\$110.00	\$9,020.00	
54	611	ODOT 12" CONDUIT, TYPE C, 706.02	187	LF	\$80.94	\$15,135.78	\$83.00	\$15,521.00	\$80.00	\$14,960.00	\$70.00	\$13,090.00	\$88.00	\$16,456.00	\$80.00	\$14,960.00	
55	611	ODOT 15" CONDUIT, TYPE B, 706.02	401	LF	\$90.40 \$36,250.40		\$95.00	\$38,095.00	\$90.00	\$36,090.00	\$75.00	\$30,075.00	\$100.00	\$40,100.00	\$96.00	\$38,496.00	
56	611	ODOT 15" CONDUIT, TYPE C, 706.02	134	LF	\$72.70	\$72.70 \$9,741.80		\$12,060.00	\$88.00	\$11,792.00	\$79.00	\$10,586.00	\$100.00	\$13,400.00	\$76.00	\$10,184.00	

Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

	Engineer's Estimate \$1,500,000			Decker Construction		Columbus Asphalt Paving, Inc.		c. Elite Excavating Co. of Ohio		Strawser Paving Co., Inc.		Conie Construction		Shelly and Sands Inc.	
Engineer's Estimate Alt. 01 \$270,000				3040 McKinley Avenue		1196 Technol	logy Drive	4500 Snodg	rass Road	1595 Fra	nk Road	1340 Windsor Avenue		1515 Harmon Avenue	
				Columbus, 0		Gahanna, O		Mansfield, C	OH 44903	Columbus,	OH 43223	Columbus, C	OH 43211	Columbus,	Ohio 43223
				614-488 Unit Price		614-759- Unit Price Labor	9800	419-683 Unit Price	-4200	614-27 Unit Price		614-291 Unit Price Labor	-5931	614-44 Unit Price	4-5100
ITEM SPEC CMS	<u>DESCRIPTION</u>	QUANTIT'	Y UNIT	Labor &	<u>Total</u>	& Material	<u>Total</u>	Labor &	<u>Total</u>	Labor &	<u>Total</u>	& Material	<u>Total</u>	Labor &	<u>Total</u>
57 611 ODO	T 3" CONDUIT, TYPE E, 707.46	892	LF	\$10.59	\$9,446.28	\$15.00	\$13,380.00	\$10.00	\$8,920.00	\$13.00	\$11,596.00	\$5.20	\$4,638.40	\$22.00	\$19,624.00
58 611 ODO	T 4" CONDUIT, TYPE F FOR UNDERDRAIN OUTLET	70	FT	\$6.35	\$444.50	\$8.25	\$577.50	\$15.00	\$1,050.00	\$18.00	\$1,260.00	\$12.00	\$840.00	\$15.00	\$1,050.00
59 614 COLS	S MAINTAINING TRAFFIC	1	LS	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$16,300.00	\$16,300.00	\$21,000.00	\$21,000.00
60 616 COLS	S WATER	4	MGAL	\$75.00	\$300.00	\$175.00	\$700.00	\$50.00	\$200.00	\$150.00	\$600.00	\$150.00	\$600.00	\$40.00	\$160.00
61 623 COLS	S CONSTRUCTION LAYOUT STAKES	1	LS	\$9,500.00	\$9,500.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$11,000.00	\$11,000.00	\$10,400.00	\$10,400.00	\$40,000.00	\$40,000.00
62 624 COLS	S MOBILIZATION	1	LS	\$2,500.00	\$2,500.00	\$6,500.00	\$6,500.00	\$24,000.00	\$24,000.00	\$32,000.00	\$32,000.00	\$31,000.00	\$31,000.00	\$60,000.00	\$60,000.00
63 630 ODO	T GROUND MOUNTED SUPPORT, NO. 2 POST	260	LF	\$9.97	\$2,592.20	\$10.00	\$2,600.00	\$9.00	\$2,340.00	\$9.50	\$2,470.00	\$9.90	\$2,574.00	\$10.00	\$2,600.00
64 630 ODO	T GROUND MOUNTED SUPPORT, NO. 3 POST	13	FT	\$11.23	\$145.99	\$11.00	\$143.00	\$10.00	\$130.00	\$10.70	\$139.10	\$11.00	\$143.00	\$11.00	\$143.00
65 630 ODO	T REMOVAL OF GROUND MOUNTED POST SUPPORT AND DISPOSAL	19	LF	\$26.25	\$498.75	\$25.00	\$475.00	\$15.00	\$285.00	\$25.00	\$475.00	\$26.00	\$494.00	\$15.00	\$285.00
66 630 ODO	T REMOVAL OF GROUND MOUNTED SIGN AND REERECTION	21	EA	\$52.50	\$1,102.50	\$50.00	\$1,050.00	\$15.00	\$315.00	\$50.00	\$1,050.00	\$52.00	\$1,092.00	\$45.00	\$945.00
67 630 ODO	T SIGN POST REFLECTOR	3	EA	\$58.80	\$176.40	\$58.00	\$174.00	\$30.00	\$90.00	\$56.00	\$168.00	\$58.00	\$174.00	\$35.00	\$105.00
68 630 ODO	T SIGN, FLAT SHEET	12.50	SF	\$23.10	\$288.75	\$22.00	\$275.00	\$20.00	\$250.00	\$22.00	\$275.00	\$23.00	\$287.50	\$35.00	\$437.50
69 630 ODO	T STREET NAME SIGN SUPPORT, NO. 2 POST	3	FT	\$15.75	\$47.25	\$16.00	\$48.00	\$75.00	\$225.00	\$15.00	\$45.00	\$16.00	\$48.00	\$20.00	\$60.00
	T CROSSWALK LINE, BAR PAIRS	172	LF	\$5.25	\$903.00	\$7.25	\$1,247.00	\$6.00	\$1,032.00	\$5.10	\$877.20	\$5.30	\$911.60	\$7.00	\$1,204.00
71 644 ODO	T STOP LINE	34	LF	\$7.14	\$242.76	\$15.30	\$520.20	\$7.00	\$238.00	\$6.80	\$231.20	\$7.10	\$241.40	\$14.75	\$501.50
72 653 COLS	S PROCESSED TOPSOIL FURNISHED AND PLACED	278	CY	\$60.00	\$16,680.00	\$60.00	\$16,680.00	\$45.00	\$12,510.00	\$40.00	\$11,120.00	\$57.00	\$15,846.00	\$48.00	\$13,344.00
73659COLS	S COMMERCIAL FERTILIZER	0.55	TON	\$500.00	\$275.00	\$625.00	\$343.75	\$1,000.00	\$550.00	\$800.00	\$440.00	\$620.00	\$341.00	\$380.00	\$209.00
74 659 COLS	S SEEDING AND MULCHING	2,517	SY	\$1.00	\$2,517.00	\$2.10	\$5,285.70	\$8.00	\$20,136.00	\$2.00	\$5,034.00	\$2.10	\$5,285.70	\$1.55	\$3,901.35
75 659 COLS	S WATER	26	MGAL	\$100.00	\$2,600.00	\$200.00	\$5,200.00	\$100.00	\$2,600.00	\$150.00	\$3,900.00	\$52.00	\$1,352.00	\$2.50	\$65.00
76 801 COLS	S 6" DUCTILE IRON WATER PIPE AND FITTINGS WITH 912 BACKFILL	57	LF	\$108.15	\$6,164.55	\$100.00	\$5,700.00	\$150.00	\$8,550.00	\$100.00	\$5,700.00	\$120.00	\$6,840.00	\$165.00	\$9,405.00
	S 8" DUCTILE IRON WATER PIPE AND FITTINGS WITH 912 BACKFILL	1,257	LF	\$133.90	\$168,312.30	\$106.00	\$133,242.00	\$100.00	\$125,700.00	\$95.00	\$119,415.00	\$130.00	\$163,410.00	\$125.00	\$157,125.00
78 802 COLS	S 6" VALVE AND APPURTENANCES	3	EA	\$875.50	\$2,626.50	\$925.00	\$2,775.00	\$900.00	\$2,700.00	\$1,250.00	\$3,750.00	\$900.00	\$2,700.00	\$2,800.00	\$8,400.00
	S 8" VALVE AND APPURTENANCES	2	EA	\$1,339.00	\$2,678.00	\$1,300.00	\$2,600.00	\$1,400.00	\$2,800.00	\$1,500.00	\$3,000.00	\$1,300.00	\$2,600.00	\$2,600.00	\$5,200.00
80 803 COLS	S 6" x 8" TAPPING SLEEVE AND VALVE AND APPURTENANCES	1	EA	\$5,459.00	\$5,459.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$5,900.00	\$5,900.00	\$5,200.00	\$5,200.00	\$5,350.00	\$5,350.00
81 803 COLS	S 8" x 8" TAPPING SLEEVE AND VALVE AND APPURTENANCES	2	EA	\$5,871.00 \$11,742.00		\$6,500.00	\$13,000.00	\$4,500.00	\$9,000.00	\$6,250.00	\$12,500.00	\$5,700.00	\$11,400.00	\$5,880.00	\$11,760.00
82 805 COLS	S 3/4" WATER SERVICE TAP COMPLETE, LONG, COMPLETE	12	EA	\$1,751.00	\$21,012.00	\$2,000.00	\$24,000.00	\$1,600.00	\$19,200.00	\$1,600.00	\$19,200.00	\$1,700.00	\$20,400.00	\$1,740.00	\$20,880.00
83 805 COLS	S 3/4" WATER SERVICE TAP COMPLETE, SHORT, COMPLETE	8	EA	\$1,442.00 \$11,536.00		\$1,400.00	\$11,200.00	\$1,200.00	\$9,600.00	\$1,250.00	\$10,000.00	\$1,600.00	\$12,800.00	\$1,550.00	\$12,400.00
84 807 COLS	807 COLS SERVICE BOXES ADJUSTED TO GRADE 1 EA		\$154.50	\$154.50	\$54.00	\$54.00	\$100.00	\$100.00	\$160.00	\$160.00	\$230.00	\$230.00	\$280.00	\$280.00	

Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

Biu Date. April 24, 2015 3.00piii									hia Strowgar Doving Co. In		Inc. Conic Construction					
Engineer's Estimate \$1,500,000				Decker Construction		Columbus Aspha	alt Paving, Inc.	Elite Excavatino	g Co. of Ohio	Strawser Pav	ring Co., Inc.	Conie Cons	truction	Shelly and Sands Inc.		
	Engineer's Estimate Alt. 01 \$270,000			3040 McKinle	ey Avenue	1196 Techno	logy Drive	4500 Snodgr	ass Road	1595 Fra	nk Road	1340 Windso	r Avenue	1515 Harmon Avenue		
				Columbus, 0	OH 43204	Gahanna, O	OH 43230	Mansfield, C	OH 44903	Columbus,	OH 43223	Columbus, O	OH 43211	Columbus, 0	Ohio 43223	
				614-488		614-759	-9800	419-683-	-4200	614-27		614-291-	5931	614-44	4-5100	
ITEM SPEC CMS	<u>DESCRIPTION</u>	QUANTITY	<u>UNIT</u>	Unit Price Labor &	<u>Total</u>	Unit Price Labor & Material	<u>Total</u>	Unit Price Labor &	<u>Total</u>	Unit Price Labor &	<u>Total</u>	Unit Price Labor & Material	<u>Total</u>	Unit Price Labor &	<u>Total</u>	
85 807 COLS	S VALVE BOXES ADJUSTED TO GRADE	2	EA	\$154.50	\$309.00	\$69.00	\$138.00	\$200.00	\$400.00	\$325.00	\$650.00	\$230.00	\$460.00	\$400.00	\$800.00	
86 808 COL	S CUT AND PLUG (CAP) 6" WATER LINE	3	EA	\$515.00	\$1,545.00	\$1,600.00	\$4,800.00	\$2,000.00	\$6,000.00	\$1,725.00	\$5,175.00	\$740.00	\$2,220.00	\$730.00	\$2,190.00	
87 809 COL	S FIRE HYDRANT	3	EA	\$2,678.00	\$8,034.00	\$3,300.00	\$9,900.00	\$4,000.00	\$12,000.00	\$3,250.00	\$9,750.00	\$2,600.00	\$7,800.00	\$5,400.00	\$16,200.00	
88 809 COL	S FIRE HYDRANT, ABANDONED	1	EA	\$515.00	\$515.00	\$625.00	\$625.00	\$500.00	\$500.00	\$850.00	\$850.00	\$820.00	\$820.00	\$1,400.00	\$1,400.00	
89 895 ODO	T MANUFACTURED WATER QUALITY STRUCTURE, TYPE 2	1	EA	\$25,650.83	\$25,650.83	\$26,500.00	\$26,500.00	\$23,000.00	\$23,000.00	\$25,000.00	\$25,000.00	\$20,500.00	\$20,500.00	\$19,000.00	\$19,000.00	
90 901 COL	S 8" PIPE w/TYPE 1 BEDDING, 720.01, w/ 912 BACKFILL	120	LF	\$285.69	\$34,282.80	\$370.00	\$44,400.00	\$95.00	\$11,400.00	\$155.00	\$18,600.00	\$230.00	\$27,600.00	\$365.00	\$43,800.00	
91 1540 COL	S ASPHALT REJUVENATING AGENT	7,920	SY	\$0.99	\$7,840.80	\$1.00	\$7,920.00	\$2.00	\$15,840.00	\$1.00	\$7,920.00	\$2.10	\$16,632.00	\$1.00	\$7,920.00	
92 12832 WES	T STORM WATER POLLUTION PREVENTION PLAN	1	LS	\$3,000.00	\$3,000.00	\$1,600.00	\$1,600.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00	\$3,000.00	\$3,000.00	
93 12832 WES	T TEMPORARY SEDIMENT AND EROSION CONTROLS	1	LS	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$6,600.00	\$6,600.00	\$6,000.00	\$6,000.00	
94 SPC ODO	T BRICK PAVER DRIVE REBUILT	559	SF	\$20.75	\$11,599.25	\$19.50	\$10,900.50	\$12.00	\$6,708.00	\$22.00	\$12,298.00	\$7.70	\$4,304.30	\$17.00	\$9,503.00	
95 SPC ODO	BRICK PAVERS REMOVED FOR REUSE	6	SY	\$26.46	\$158.76	\$53.00	\$318.00	\$50.00	\$300.00	\$200.00	\$1,200.00	\$21.00	\$126.00	\$60.00	\$360.00	
96 SPC ODO	T GEOGRID, TENSAR BX1300 OR APPROVED EQUAL, AS DIRECTED	100	SY	\$6.00	\$600.00	\$4.60	\$460.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$3.80	\$380.00	\$4.00	\$400.00	
	BASE BID TOTAL	L			\$1,443,036.37		\$1,450,890.30		\$1,526,625.00		\$1,547,002.10		\$1,626,918.70		\$1,698,511.35	
	BID ALTERNATE NO. 01 - CENTRAL AVENUE RECONSTRUCTION															
97 201 COLS	S CLEARING AND GRUBBING	1	LS	\$660.00	\$660.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$600.00	\$600.00	\$620.00	\$620.00	\$1,200.00	\$1,200.00	
98 201 COL	S STUMP REMOVED, 18"	3	EA	\$220.00	\$660.00	\$105.00	\$315.00	\$200.00	\$600.00	\$215.00	\$645.00	\$210.00	\$630.00	\$200.00	\$600.00	
99 201 COL	S STUMP REMOVED, 30"	2	EA	\$440.00	\$880.00	\$180.00	\$360.00	\$400.00	\$800.00	\$425.00	\$850.00	\$420.00	\$840.00	\$400.00	\$800.00	
100 201 COL	S STUMP REMOVED, 48"	3	EA	\$550.00	\$1,650.00	\$285.00	\$855.00	\$500.00	\$1,500.00	\$525.00	\$1,575.00	\$520.00	\$1,560.00	\$500.00	\$1,500.00	
101 201 COL	S TREE REMOVED, 18"	3	EA	\$385.00	\$1,155.00	\$525.00	\$1,575.00	\$350.00	\$1,050.00	\$375.00	\$1,125.00	\$360.00	\$1,080.00	\$350.00	\$1,050.00	
102 201 COL	S TREE REMOVED, 30"	2	EA	\$1,320.00	\$2,640.00	\$1,250.00	\$2,500.00	\$1,200.00	\$2,400.00	\$1,250.00	\$2,500.00	\$1,200.00	\$2,400.00	\$1,200.00	\$2,400.00	
103 201 COL	S TREE REMOVED, 48"	3	EA	\$2,750.00	\$8,250.00	\$2,400.00	\$7,200.00	\$2,500.00	\$7,500.00	\$2,600.00	\$7,800.00	\$2,600.00	\$7,800.00	\$2,500.00	\$7,500.00	
104 202 COL	S CATCH BASIN OR INLET REMOVED	5	EA	\$177.98	\$889.90	\$685.00	\$3,425.00	\$200.00	\$1,000.00	\$650.00	\$3,250.00	\$220.00	\$1,100.00	\$300.00	\$1,500.00	
105 202 COL	S CURB AND GUTTER REMOVED	85	LF	\$5.23	\$444.55	\$7.00	\$595.00	\$10.00	\$850.00	\$14.00	\$1,190.00	\$8.50	\$722.50	\$8.00	\$680.00	
106 202 ODO	S 202 ODOT MAILBOX REMOVED 3 EA		EA	\$100.00	\$300.00	\$160.00	\$480.00	\$50.00	\$150.00	\$91.00	\$273.00	\$82.00	\$246.00	\$100.00	\$300.00	
107 202 COL	S MANHOLE REMOVED	3	EA	\$4,813.75	\$14,441.25	\$685.00	\$2,055.00	\$500.00	\$1,500.00	\$650.00	\$1,950.00	\$530.00	\$1,590.00	\$400.00	\$1,200.00	
108 202 COL	3 202 COLS PAVEMENT REMOVED 1,303 SY		\$8.36	\$10,893.08	\$7.35	\$9,577.05	\$8.00	\$10,424.00	\$11.00	\$14,333.00	\$9.70	\$12,639.10	\$2.00	\$2,606.00		
109 202 COLS	109 202 COLS PIPE REMOVED 189 LF		\$24.46	\$4,622.94	\$18.00	\$3,402.00	\$15.00	\$2,835.00	\$75.00	\$14,175.00	\$7.40	\$1,398.60	\$20.00	\$3,780.00		

Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

	Engineer's Estimate \$1,500,000				Decker Con	struction	Columbus Aspha	It Paving, Inc.	Elite Excavating	g Co. of Ohio	Strawser Pav	ring Co., Inc.	Conie Cons	truction	Shelly and Sands Inc.		
	Engineer's Estimate Alt. 01 \$270,000				3040 McKinle	ey Avenue	1196 Technol	ogy Drive	4500 Snodgi	rass Road	1595 Fra	nk Road	1340 Windso	r Avenue	1515 Harm	on Avenue	
					Columbus, C	OH 43204	Gahanna, O	H 43230	Mansfield, C	OH 44903	Columbus,	OH 43223	Columbus, C	OH 43211	Columbus,	Ohio 43223	
					614-488 Unit Price		614-759- Unit Price Labor	9800	419-683 Unit Price	-4200	614-27 Unit Price		614-291 Unit Price Labor	-5931	614-44 Unit Price	4-5100	
ITEM	SPEC	CMS DESCRIPTION	<u>QUANTITY</u>	<u>Y</u> <u>UNIT</u>	Labor &	<u>Total</u>	& Material	<u>Total</u>	Labor &	<u>Total</u>	Labor &	<u>Total</u>	& Material	<u>Total</u>	Labor &	<u>Total</u>	
110	202	COLS WALK REMOVED	216	SF	\$2.06	\$444.96	\$2.10	\$453.60	\$2.00	\$432.00	\$2.75	\$594.00	\$2.10	\$453.60	\$1.50	\$324.00	
111	203	COLS EMBANKMENT	38	CY	\$25.17	\$956.46	\$14.00	\$532.00	\$18.00	\$684.00	\$38.00	\$1,444.00	\$45.00	\$1,710.00	\$65.00	\$2,470.00	
112	203	COLS EXCAVATION	425	CY	\$46.61	\$19,809.25	\$23.00	\$9,775.00	\$20.00	\$8,500.00	\$67.00	\$28,475.00	\$28.00	\$11,900.00	\$36.00	\$15,300.00	
113	204	COLS PROOF ROLLING	1	HR	\$151.39	\$151.39	\$80.00	\$80.00	\$100.00	\$100.00	\$84.00	\$84.00	\$170.00	\$170.00	\$175.00	\$175.00	
114	204	COLS SUBGRADE COMPACTION	1,493	SY	\$0.58	\$865.94	\$2.30	\$3,433.90	\$2.00	\$2,986.00	\$1.50	\$2,239.50	\$2.90	\$4,329.70	\$3.00	\$4,479.00	
115	252	ODOT FULL DEPTH PAVEMENT SAWING	119	FT	\$1.73	\$205.87	\$2.25	\$267.75	\$2.00	\$238.00	\$1.00	\$119.00	\$1.70	\$202.30	\$3.00	\$357.00	
116	254	ODOT PAVEMENT PLANING, ASPHALT CONCRETE	76	SY	\$8.46	\$642.96	\$5.25	\$399.00	\$20.00	\$1,520.00	\$20.00	\$1,520.00	\$8.80	\$668.80	\$55.00	\$4,180.00	
117	301	ODOT ASPHALT CONCRETE BASE, PG64-22	204	CY	\$187.88	\$38,327.52	\$140.00	\$28,560.00	\$160.00	\$32,640.00	\$155.00	\$31,620.00	\$200.00	\$40,800.00	\$135.00	\$27,540.00	
118	304	ODOT AGGREGATE BASE	249	CY	\$51.22	\$12,753.78	\$38.00	\$9,462.00	\$40.00	\$9,960.00	\$45.00	\$11,205.00	\$45.00	\$11,205.00	\$64.00	\$15,936.00	
119	407	ODOT TACK COAT, TRACKLESS TACK, AS PER PLAN (0.07 GAL/SY)	100	GAL	\$4.70	\$470.00	\$4.90	\$490.00	\$5.00	\$500.00	\$4.40	\$440.00	\$4.90	\$490.00	\$4.00	\$400.00	
120	410	COLS TRAFFIC COMPACTED SURFACE, TYPE A, AS DIRECTED	40	TON	\$16.65	\$666.00	\$19.00	\$760.00	\$20.00	\$800.00	\$65.00	\$2,600.00	\$40.00	\$1,600.00	\$60.00	\$2,400.00	
121	441	ODOT ASPHALT CONCRETE, INT. COURSE, TYPE 2, (448)	57	CY	\$199.88	\$11,393.16	\$157.00	\$8,949.00	\$175.00	\$9,975.00	\$175.00	\$9,975.00	\$210.00	\$11,970.00	\$185.00	\$10,545.00	
122	441	ODOT ASPHALT CONCRETE, SUR. COURSE, TYPE 1 (448) PG64-22	48	CY	\$213.88	\$10,266.24	\$180.00	\$8,640.00	\$260.00	\$12,480.00	\$260.00	\$12,480.00	\$220.00	\$10,560.00	\$185.00	\$8,880.00	
123	452	COLS 6" NON-REINFORCED CONCRETE PAVEMENT	106	SY	\$46.53	\$4,932.18	\$60.00	\$6,360.00	\$65.00	\$6,890.00	\$60.00	\$6,360.00	\$75.00	\$7,950.00	\$85.00	\$9,010.00	
124	602	COLS CONCRETE MASONRY	0.2	CY	\$3,627.79	\$725.56	\$2,600.00	\$520.00	\$6,000.00	\$1,200.00	\$5,750.00	\$1,150.00	\$3,800.00	\$760.00	\$3,000.00	\$600.00	
125	604	COLS CURB AND GUTTER INLET (AA-S125A)	8	EA	\$1,573.02	\$12,584.16	\$2,200.00	\$17,600.00	\$2,500.00	\$20,000.00	\$3,400.00	\$27,200.00	\$1,900.00	\$15,200.00	\$2,700.00	\$21,600.00	
126	604	COLS DRAINAGE MISC, PLUG/CAP AS PER PLAN	1	EA	\$345.00	\$345.00	\$425.00	\$425.00	\$100.00	\$100.00	\$525.00	\$525.00	\$340.00	\$340.00	\$1,500.00	\$1,500.00	
127	604	COLS MANHOLE, TYPE C	9	EA	\$3,979.41	\$35,814.69	\$2,400.00	\$21,600.00	\$2,500.00	\$22,500.00	\$4,000.00	\$36,000.00	\$2,300.00	\$20,700.00	\$4,000.00	\$36,000.00	
128	605	COLS 4" PIPE UNDERDRAIN, 720.12	941	LF	\$6.14	\$5,777.74	\$7.00	\$6,587.00	\$9.00	\$8,469.00	\$7.00	\$6,587.00	\$8.40	\$7,904.40	\$7.50	\$7,057.50	
129	608	COLS 4" CONCRETE WALK	5,308	SF	\$4.13	\$21,922.04	\$5.50	\$29,194.00	\$6.00	\$31,848.00	\$4.25	\$22,559.00	\$6.80	\$36,094.40	\$4.50	\$23,886.00	
130	608	COLS 6" CONCRETE WALK	582	SF	\$5.11	\$2,974.02	\$7.30	\$4,248.60	\$8.00	\$4,656.00	\$6.50	\$3,783.00	\$7.90	\$4,597.80	\$5.00	\$2,910.00	
131	608	COLS CONCRETE STEPS	6	FT	\$163.09	\$978.54	\$100.00	\$600.00	\$200.00	\$1,200.00	\$100.00	\$600.00	\$160.00	\$960.00	\$100.00	\$600.00	
132	608	COLS CURB RAMP	8	EA	\$150.00	\$1,200.00	\$110.00	\$880.00	\$500.00	\$4,000.00	\$275.00	\$2,200.00	\$210.00	\$1,680.00	\$170.00	\$1,360.00	
133	608	COLS DETECTABLE WARNING, TYPE "E"	8	EA	\$150.00	\$1,200.00	\$180.00	\$1,440.00	\$250.00	\$2,000.00	\$190.00	\$1,520.00	\$260.00	\$2,080.00	\$125.00	\$1,000.00	
134	609	COLS 3.5" DIAMETER CORED CURB	18	EA	\$38.00	\$684.00	\$50.00	\$900.00	\$20.00	\$360.00	\$20.00	\$360.00	\$21.00	\$378.00	\$80.00	\$1,440.00	
135	609	COLS COMBINATION CURB AND GUTTER, TYPE STANDARD	27	LF	\$37.56	\$1,014.12	\$19.00	\$513.00	\$50.00	\$1,350.00	\$30.00	\$810.00	\$31.00	\$837.00	\$44.00	\$1,188.00	
136	609	COLS CURB, STRAIGHT 18"	880	FT	\$15.61	\$13,736.80	\$13.25	\$11,660.00	\$20.00	\$17,600.00	\$11.00	\$9,680.00	\$15.00	\$13,200.00	\$30.00	\$26,400.00	
137	611	ODOT 12" CONDUIT, TYPE B, 706.02	219	LF	\$73.47 \$16,089		\$92.00	\$20,148.00	\$65.00	\$14,235.00	\$73.00	\$15,987.00	\$92.00	\$20,148.00	\$75.00	\$16,425.00	

Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

Engineer's Estimate \$1,500,000			Decker Construction		Columbus Asphalt Paving, Inc.		c. Elite Excavating Co. of Ohio		Strawser Paving Co., Inc.		. Conie Construction		Shelly and Sands Inc.	
Engineer's Estimate Alt. 01 \$270,000			3040 McKinley Avenue		1196 Technolo	ogy Drive	4500 Snodgr	ass Road	1595 Fran	nk Road	1340 Windsor Avenue		1515 Harmon Avenue	
			Columbus, C		Gahanna, Ol		Mansfield, O		Columbus,		Columbus, C		Columbus,	
			614-488- Unit Price		614-759-9 Unit Price Labor	0800	419-683- Unit Price	4200	614-276 Unit Price		614-291- Unit Price Labor	5931	614-44 Unit Price	4-5100
ITEM SPEC CMS DESCRIPTION	<u>QUANTIT</u>	Y <u>UNIT</u>	Labor &	<u>Total</u>	& Material	Total	Labor &	<u>Total</u>	Labor &	<u>Total</u>	& Material	Total	Labor &	<u>Total</u>
138 611 ODOT 12" CONDUIT, TYPE C, 706.02	254	LF	\$76.83	\$19,514.82	\$78.00	\$19,812.00	\$55.00	\$13,970.00	\$70.00	\$17,780.00	\$94.00	\$23,876.00	\$78.00	\$19,812.00
139 611 ODOT 3" CONDUIT, TYPE E, 707.46	180	LF	\$9.46	\$1,702.80	\$11.00	\$1,980.00	\$10.00	\$1,800.00	\$14.00	\$2,520.00	\$6.10	\$1,098.00	\$38.00	\$6,840.00
140 611 ODOT 4" CONDUIT, TYPE F FOR UNDERDRAIN OUTLET	20	FT	\$6.88	\$137.60	\$8.00	\$160.00	\$20.00	\$400.00	\$21.00	\$420.00	\$15.00	\$300.00	\$26.00	\$520.00
141 614 COLS MAINTAINING TRAFFIC	1	LS	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$6,300.00	\$6,300.00	\$25,000.00	\$25,000.00
142 616 COLS WATER	2	MGAL	\$100.00	\$200.00	\$175.00	\$350.00	\$50.00	\$100.00	\$150.00	\$300.00	\$150.00	\$300.00	\$35.00	\$70.00
143 623 COLS CONSTRUCTION LAYOUT STAKES	1	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	\$5,500.00	\$5,500.00	\$2,100.00	\$2,100.00	\$20,000.00	\$20,000.00
144 624 COLS MOBILIZATION	1	LS	\$0.00	\$0.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$5,700.00	\$5,700.00	\$10,000.00	\$10,000.00	\$40,000.00	\$40,000.00
145 630 ODOT GROUND MOUNTED SUPPORT, NO. 2 POST	60	LF	\$9.97	\$598.20	\$10.00	\$600.00	\$10.00	\$600.00	\$9.50	\$570.00	\$9.90	\$594.00	\$10.00	\$600.00
146 630 ODOT GROUND MOUNTED SUPPORT, NO. 3 POST	52	FT	\$11.23	\$583.96	\$11.00	\$572.00	\$13.00	\$676.00	\$10.70	\$556.40	\$11.00	\$572.00	\$13.00	\$676.00
147 630 ODOT REMOVAL OF GROUND MOUNTED POST SUPPORT AND DISPOSAL	7	LF	\$26.25	\$183.75	\$26.00	\$182.00	\$20.00	\$140.00	\$25.00	\$175.00	\$26.00	\$182.00	\$22.00	\$154.00
148 630 ODOT REMOVAL OF GROUND MOUNTED SIGN AND REERECTION	7	EA	\$52.50	\$367.50	\$52.00	\$364.00	\$20.00	\$140.00	\$50.00	\$350.00	\$52.00	\$364.00	\$22.00	\$154.00
149 630 ODOT SIGN POST REFLECTOR	1	EA	\$58.80	\$58.80	\$58.00	\$58.00	\$40.00	\$40.00	\$56.00	\$56.00	\$58.00	\$58.00	\$42.00	\$42.00
150 630 ODOT SIGN, FLAT SHEET	12.5	SF	\$23.10	\$288.75	\$23.00	\$287.50	\$25.00	\$312.50	\$22.00	\$275.00	\$23.00	\$287.50	\$28.00	\$350.00
151 644 ODOT CROSSWALK LINE 24"	137	LF	\$5.25	\$719.25	\$6.75	\$924.75	\$6.00	\$822.00	\$5.10	\$698.70	\$5.30	\$726.10	\$7.00	\$959.00
152 644 ODOT STOP LINE	12	LF	\$7.14	\$85.68	\$15.50	\$186.00	\$7.00	\$84.00	\$6.80	\$81.60	\$7.10	\$85.20	\$16.00	\$192.00
153 653 COLS PROCESSED TOPSOIL FURNISHED AND PLACED	98	CY	\$60.00	\$5,880.00	\$60.00	\$5,880.00	\$45.00	\$4,410.00	\$40.00	\$3,920.00	\$57.00	\$5,586.00	\$72.00	\$7,056.00
154 659 COLS COMMERCIAL FERTILIZER	0.2	TON	\$500.00	\$100.00	\$625.00	\$125.00	\$1,000.00	\$200.00	\$800.00	\$160.00	\$620.00	\$124.00	\$530.00	\$106.00
155 659 COLS SEEDING AND MULCHING	883	SY	\$1.00	\$883.00	\$2.10	\$1,854.30	\$8.00	\$7,064.00	\$2.00	\$1,766.00	\$2.10	\$1,854.30	\$6.00	\$5,298.00
156 659 COLS WATER	10	MGAL	\$100.00	\$1,000.00	\$200.00	\$2,000.00	\$100.00	\$1,000.00	\$150.00	\$1,500.00	\$52.00	\$520.00	\$10.00	\$100.00
157 801 COLS 6" DUCTILE IRON WATER PIPE AND FITTINGS WITH 912 BACKFILL	6	LF	\$85.11	\$510.66	\$210.00	\$1,260.00	\$250.00	\$1,500.00	\$125.00	\$750.00	\$280.00	\$1,680.00	\$185.00	\$1,110.00
158 802 COLS 6" VALVE AND APPURTENANCES	1	EA	\$906.36	\$906.36	\$1,100.00	\$1,100.00	\$900.00	\$900.00	\$1,250.00	\$1,250.00	\$900.00	\$900.00	\$1,200.00	\$1,200.00
159 805 COLS 3/4" WATER SERVICE TAP COMPLETE, LONG, COMPLETE	1	EA	\$2,699.46	\$2,699.46	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00	\$1,600.00	\$1,600.00	\$1,700.00	\$1,700.00	\$3,000.00	\$3,000.00
160 807 COLS VALVE BOXES ADJUSTED TO GRADE	1	EA	\$142.68	\$142.68	\$69.00	\$69.00	\$250.00	\$250.00	\$325.00	\$325.00	\$230.00	\$230.00	\$300.00	\$300.00
161 809 COLS FIRE HYDRANT	1	EA	\$2,063.18	\$2,063.18	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$3,250.00	\$3,250.00	\$2,600.00	\$2,600.00	\$3,650.00	\$3,650.00
162 809 COLS FIRE HYDRANT, ABANDONED	1	EA	\$2,721.31	\$2,721.31	\$525.00	\$525.00	\$500.00	\$500.00	\$850.00	\$850.00	\$820.00	\$820.00	\$1,225.00	\$1,225.00
163 901 COLS 24" PIPE w/TYPE 1 BEDDING, 720.01, w/ 912 BACKFILL	12	LF	\$234.70	\$2,816.40	\$675.00	\$8,100.00	\$300.00	\$3,600.00	\$235.00	\$2,820.00	\$340.00	\$4,080.00	\$950.00	\$11,400.00
164 901 COLS 8" PIPE w/TYPE 1 BEDDING, 720.01, w/ 912 BACKFILL	42	LF	\$285.69	\$11,998.98	\$520.00	\$21,840.00	\$150.00	\$6,300.00	\$135.00	\$5,670.00	\$400.00	\$16,800.00	\$580.00	\$24,360.00
165 915 COLS 8" x 6" WYE FITTING	1	EA	\$158.86	\$158.86	\$235.00	\$235.00	\$100.00	\$100.00	\$750.00	\$750.00	\$52.00	\$52.00	\$1,700.00	\$1,700.00

Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

ыа г	ate: April	24, 2015	3:00pm															
			Engineer's Estimate \$1,500,000			Decker Construction			Columbus Aspha	It Paving, Inc.	Elite Excavatin	g Co. of Ohio	Strawser Pav	ring Co., Inc.	Conie Cons	truction	Shelly and	Sands Inc.
		Engineer's Estimate Alt. 01 \$270,000				3040 McKinley Avenue		nley Avenue 1196 Technology Drive		4500 Snodg	rass Road	1595 Fra	nk Road	1340 Windso	r Avenue	1515 Harmo	on Avenue	
				Columbus, OH 43204		Gahanna, O	Gahanna, OH 43230		OH 44903	Columbus,	OH 43223	Columbus, C	OH 43211	Columbus, Ohio 43223				
								614-488-7958		614-759-9800		-4200	614-27	6-5273	614-291	5931	614-444-5100	
ITEN	<u> SPEC</u>	<u>CMS</u>	DESCRIPTION		QUANTITY UNIT		Unit Price Labor &	<u>Total</u>	Unit Price Labor & Material	<u>Total</u>	Unit Price Labor &	<u>Total</u>	Unit Price Labor &	<u>Total</u>	Unit Price Labor & Material	<u>Total</u>	Unit Price Labor &	<u>Total</u>
166	918	COLS	6" DIAMETER SANITARY HO	OUSE CONNECTION SERVICE, 720.01	26	LF	\$68.81	\$1,789.06	\$115.00	\$2,990.00	\$100.00	\$2,600.00	\$86.00	\$2,236.00	\$170.00	\$4,420.00	\$160.00	\$4,160.00
167	1540	COLS	ASPHALT REJUVENATING	AGENT	1380	SY	\$0.99	\$1,366.20	\$1.00	\$1,380.00	\$2.00	\$2,760.00	\$1.00	\$1,380.00	\$2.10	\$2,898.00	\$2.00	\$2,760.00
168	SPC	ODOT	MAILBOX SUPPORT SYSTE	YSTEM, SINGLE 3 EA		\$136.50	\$409.50	\$135.00	\$405.00	\$200.00	\$600.00	\$130.00	\$390.00	\$140.00	\$420.00	\$140.00	\$420.00	
	BID ALTERNATE NO. 01 TOTAL						\$327,805.79		\$316,656.45		\$317,700.50		\$353,982.20		\$353,042.30		\$452,292.50	
BASE BID + BID ALTERNATE NO. 01 TOTAL							\$1,770,842.16		\$1,767,546.75		\$1,844,325.50		\$1,900,984.30		\$1,979,961.00		\$2,150,803.85	